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Section : English Language

Q.1 Select the most appropriate ANTONYM of the underlined word in the given sentence.
It is a misconception that the more you learn, the more likely you are to succeed.

Ans 1. lllusion
2. Hallucination
3. Fallacy

4. Certainty

Question ID : 264330143227
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate synonym of the given word.
Colleague

Ans 1. Co-worker
2. Consult
3. Distend

4. Exempt

Question ID : 264330143644
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate synonym of the underlined word.
All the employees feel that continuing working there is perilous to their careers.
Ans 1. Convenient
2. Dangerous
3. Helpful
4. Suitable

Question ID : 264330143174
Status : Answered
Chosen Option : 2




Q.4 Parts of the following sentence have been given as options. One of them may contain
an error. Select the option that contains the error. If you don’t find any error, mark ‘No

error’ as your answer.
Nobody from the gathering of odd people could guess the accident occurring blast.

Ans 1. the accident occurring blast
2. Nobody from the gathering
3. No error

4. of odd people could guess

Question ID : 264330143034
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate homonym in the context of the following sentence to fill in

the blank.
The key was hanging on a by the door.
Ans 1. nail: to catch someone, especially when they are doing something wrong, or guilty

2. nail: a small metal spike, driven into wood to join things together or to serve as a
hook

3. nail: a thin, hard area that covers the upper side of the end of each finger and each
toe

4. nail: to do something successfully

Question ID : 264330142648
Status : Answered
Chosen Option : 2

Q.6 Select the INCORRECTLY spelt word.
Ans 1. Obdurate

2. Cryptic
3. Surrugocy

4. Drastic

Question ID : 264330143994
Status : Answered
Chosen Option : 3

Q.7 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
(P) and the impact of their
(Q) the authors’ journey of self-discovery
(R) the memoir explores
(S) upbringing on their identity

Ans 1. RQPS
2. RQSP
3. QPSR
4. SPRQ

Question ID : 264330144200
Status : Answered
Chosen Option : 1




Q.8 The following sentence has been split into four segments. Identify the segment that

contains a grammatical error.
I have read that / a Leaning Tower of Pisais a/ popular tourist attraction / in the world.

Ans 1. I have read that
2. a Leaning Tower of Pisa is a
3. popular tourist attraction

4. in the world

Question ID : 264330147605
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate meaning of the given idiom.
Devil’'s advocate

Ans 1. One who takes an opposing position for the sake of argument
2. One who presents very logical arguments
3. One who is very precise and accurate

4. One who never argues

Question ID : 264330142663
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

The doctor assured the patient that the tumour was benign and could be easily
removed

Ans 1. Favourable
2. Malignant
3. Sterile

4. Kind

Question ID : 264330148917
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate option that expresses the given sentence in passive voice.
The director hired the new employee after the interview.

Ans 1. The new employee will be hired by the director after the interview.
2. The new employee was hired by the director after the interview.
3. The new employee is being hired by the director after the interview.

4. The new employee hired by the director after the interview.

Question ID : 264330144187
Status : Answered
Chosen Option : 2




Q.12 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A.That the only true individual

B.Is the holy man

C.It has frequently been claimed

D.Which the traditional society of India tolerates

Ans 1.D,C,A/B
2.C,A,D,B
3.A/B,D,C

4.C,D,A, B

Question ID : 264330142614
Status : Answered
Chosen Option : 2

Q.13 Select the INCORRECTLY spelt word from the given sentence.
Drunkeness, riot and brawling were the order, there, every night.

Ans 1. Riot
2. Drunkeness
3. Order

4. Brawling

Question ID : 264330149875
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option that can substitute the underlined segment in the
following sentence.

Can you please make sure that all the guest are gathered on the stage before the
performance begins?

Ans 1. guest is gathered on
2. guests are gathered in
3. guests are gathered by

4. guests is gathered by

Question ID : 264330150766
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate meaning of the given idiom.

Spill the beans
Ans 1. Open the flow of the stopped water
2. Liberate the controlled emotions
3. Distribute food grains freely

4. Disclose the secrets accidentally

Question ID : 264330143989
Status : Answered
Chosen Option : 4




Q.16 Select the most appropriate option that can be used as a one-word substitute for the
underlined segment in the following sentence.

The king’s coronation ceremony was a grand affair, with all the nobles and dignitaries
dressed in their finest insignia of royalty.

Ans 1. ornaments
2. regalia
3. regals

4. spectres

Question ID : 264330148912
Status : Answered
Chosen Option : 2

Q.17 Sentences of a paragraph are given below in jumbled order. Select the option that
arranges the sentences in the correct order to form a meaningful and coherent
paragraph.

A.The post-COVID period has caused many asymptomatic diseases.

B.Though it cannot be believed for sure; the change in social life may be a major
cause.

C.These are people who suffered infection once or never at all.

D.Some propose that survival post infection has changed the mindset of people.

Ans 1.B,D,C,A
2.B,D,AC
3.A,C,D,B
4.A,C,B,D

Question ID : 264330148746
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate synonym of the underlined word.
She was completely baffled by his strange behaviour.

Ans 1. confused
2. unfazed
3. relieved

4. angered

Question ID : 264330149871
Status : Answered
Chosen Option : 1

Q.19 Select the option that expresses the given sentence in passive voice.
The speech of Dr. APJ Abdul Kalam influences young minds.

Ans 1. Young minds get influenced by Dr. APJ Abdul Kalam
2. Young minds were influenced by the speech of Dr. APJ Abdul Kalam.
3. Young minds are influenced by the speech of Dr. APJ Abdul Kalam.

4. The speech of Dr. APJ Adul Kalam is very influencing.

Question ID : 264330143058
Status : Answered
Chosen Option : 3




Q.20 Select the option that can be used as a one-word substitute for the given group of
words.
One who possesses outstanding technical ability in a particular art or field

Ans 1. Virtuous
2. Virtuoso
3. Gourmand

4. Amateur

Question ID : 264330143060
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Following in the footsteps of France, Italy has (1) a new tax to be

2) on large tech companies, a move that is likely to put more strain on
the country's relations with the USA. The Italian parliament has approved a 3% digital tax on
some digital revenue of technology companies that make over $831 million in global revenue,

including at least $6 million in Italy. The tax 3) similar to the one France
implemented earlier this year, which has attracted (4) criticism from the
USA. According to a report in The Epoch Times, dozens of countries are working on
proposals to change corporate tax schemes to 5) money from tech firms

that have users across the world, such as Facebook and Google’s parent company Alphabet.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 1. accepted

2. declined
3. approved

4. favoured

Question ID : 264330149839
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Following in the footsteps of France, Italy has (1) a new tax to be

) on large tech companies, a move that is likely to put more strain on
the country's relations with the USA. The Italian parliament has approved a 3% digital tax on
some digital revenue of technology companies that make over $831 million in global revenue,

including at least $6 million in Italy. The tax 3) similar to the one France
implemented earlier this year, which has attracted (4) criticism from the
USA. According to a report in The Epoch Times, dozens of countries are working on
proposals to change corporate tax schemes to 5) money from tech firms

that have users across the world, such as Facebook and Google’s parent company Alphabet.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. crossed

2. levied
3. placed

4. exercised

Question ID : 264330149840
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Following in the footsteps of France, Italy has 1) a new tax to be

2) on large tech companies, a move that is likely to put more strain on
the country's relations with the USA. The Italian parliament has approved a 3% digital tax on
some digital revenue of technology companies that make over $831 million in global revenue,

including at least $6 million in Italy. The tax 3) similar to the one France
implemented earlier this year, which has attracted 4) criticism from the
USA. According to a report in The Epoch Times, dozens of countries are working on
proposals to change corporate tax schemes to 5) money from tech firms

that have users across the world, such as Facebook and Google’s parent company Alphabet.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. are

2.is
3. were

4. have

Question ID : 264330149841
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Following in the footsteps of France, Italy has (2) a new tax to be

2) on large tech companies, a move that is likely to put more strain on
the country's relations with the USA. The lItalian parliament has approved a 3% digital tax on
some digital revenue of technology companies that make over $831 million in global revenue,

including at least $6 million in Italy. The tax 3) similar to the one France
implemented earlier this year, which has attracted 4) criticism from the
USA. According to a report in The Epoch Times, dozens of countries are working on
proposals to change corporate tax schemes to 5) money from tech firms

that have users across the world, such as Facebook and Google’s parent company Alphabet.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. severe

2. mild
3. critical

4. firm

Question ID : 264330149842
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Following in the footsteps of France, Italy has 1) a new tax to be

2) on large tech companies, a move that is likely to put more strain on
the country's relations with the USA. The Italian parliament has approved a 3% digital tax on
some digital revenue of technology companies that make over $831 million in global revenue,

including at least $6 million in Italy. The tax 3) similar to the one France
implemented earlier this year, which has attracted 4) criticism from the
USA. According to a report in The Epoch Times, dozens of countries are working on
proposals to change corporate tax schemes to 5) money from tech firms

that have users across the world, such as Facebook and Google’s parent company Alphabet.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 1. take

2. remove
3. seize

4. capture

Question ID : 264330149843
Status : Answered
Chosen Option : 1

Section : General Intelligence




Q.1

Ans
1. %
2. £
3. g
4. g
Question ID : 264330146492
Status : Answered
Chosen Option : 4
Q.2
Ans 1.
2.
3.
4.

Question ID : 264330147213
Status : Answered
Chosen Option : 1




Q.3

Ans 1. 400
2.346
3. 362
4. 333
Question ID : 264330147436
Status : Answered
Chosen Option : 2
Q.4
Ans 1.12
2.27
Question ID : 264330147449
3.40 Status : Answered
4.23 Chosen Option : 3
Q.5
Ans 1. 378
2.
3.
4.,
Question ID : 264330147440
Status : Answered
Chosen Option : 3
Q.6
Ans 1. 54
2. 853
3. 51
4. 55

Question ID : 264330152031
Status : Answered
Chosen Option : 2




Q.7

Ans 1. FHGHVZN
2. EHHHUZM
3. FGGHVYN
4 Question ID : 264330150454
- EGHGWYM Status : Answered
Chosen Option : 2
Q.8
Ans 1.
2.
3.
Question ID : 264330147048
4. Status : Answered
Chosen Option : 2
Q.9
Ans 1.
2.
s Question ID : 264330146971
4. Status : Answered
Chosen Option : 3
Q.10
Ans 1.
2. ui
3. ni
4 fi Question ID : 264330147318

Status : Answered
Chosen Option : 4




Q.11

Ans

1.
2.
3. Neither conclusion I nor II follows. Question ID : 264330152017
Status : Answered
4 Chosen Option : 1
Q.12
Ans 1.
2.
3.
4. Question ID : 264330147095
Status : Answered
Chosen Option : 4
Q.13
Ans 1.
2.
8. Question ID : 264330146973
4. Status : Answered

Chosen Option : 2




Q.14

Ans

1.18
2. 19
3. 17
4. 16

Question ID : 264330146903
Status : Answered
Chosen Option : 2




Q.15

Ans
1.
2.
3.
4.
Question ID : 264330146761
Status : Answered
Chosen Option : 2
Q.16
Ans 1.
2.
3.
4. Question ID : 264330147083

Status : Answered
Chosen Option : 4




Q.17

Ans
Question ID : 264330147010
Status : Answered
Chosen Option : 1
Q.18
Ans

Question ID : 264330147220
Status : Answered
Chosen Option : 2




Q.19

Ans 1.
2.
3. 43 Question ID : 264330147327
4 Status : Answered
’ Chosen Option : 3
Q.20
Ans 1.
2.
3.
4,
Question ID : 264330147284
Status : Answered
Chosen Option : 3
Q.21
Ans 1.
2.
3.
4. 432 Question ID : 264330147130

Status : Answered
Chosen Option : 4




Q.22

Ans 1. FKOR

2. FIMO
3. FINP
4. HMQT Question ID : 264330150976
Status : Answered
Chosen Option : 1
Q.23
Ans 1. 18
2. 4
3 24
4. 8 Question ID : 264330146351
Status : Answered
Chosen Option : 4
Q.24
Ans 1. Neither conclusion I nor IT follows.
2.
3 Question ID : 264330152013
4. Status : Answered
Chosen Option : 3
Q.25
Ans 1.
2.
3.
4.

Question ID : 264330147181
Status : Not Answered
Chosen Option : --




Section : Quantitative Aptitude

Q.1
Ans 1.
2. 1.975
3. 1.725
4,
Question ID : 264330148246
Status : Answered
Chosen Option : 4
2 : 2 13y,
If x2-5V5x+1= 0. and x > 0, what is the value of | x* — — | ?
X
Ans 1 1331
2. 1364
3. 1296
4. 1244
Question ID : 264330151436
Status : Answered
Chosen Option : 3
Q.3
Ans
1.
2.
3.
4.

Question ID : 264330148393
Status : Answered
Chosen Option : 1




Q.4

Ans 1. 1209
2.
3 Question ID : 264330146808
' Status : Answered
4. 13% Chosen Option : 1
Q.5

If the volume of a cube is 729 e¢m?, then find the total surface area of the cube.

ANS 1484 cm?
2. 482 cm?
3. 488 cm?

2
4+ 486 cm Question ID : 264330149452
Status : Answered
Chosen Option : 4




Q.6

Ans i |
- C4 Question ID : 264330150575
. Status : Answered
Chosen Option : 4
- €3
Q.7
Ans
Question ID : 264330147827
Status : Answered
Chosen Option : 2
Q.8
Ans

Question ID : 264330148274
Status : Answered
Chosen Option : 4




Q.9

Ans

Question ID : 264330148234
Status : Answered
Chosen Option : 1

Q.10

Ans

Question ID : 264330147967
Status : Answered
Chosen Option : 3

Q.11

Ans

o O = n

Question ID : 264330148162
Status : Answered
Chosen Option : 4

Q.12

Ans

Question ID : 264330149455
Status : Answered
Chosen Option : 1




Q13 If Va = 3b, then% is equal to:

Ans 1
1. =
&
2.6
1
3. -
9
4.9
Question ID : 264330150957
Status : Answered
Chosen Option : 4
Q.14
Ans 1. 42
2.
3.
4. 22

Question ID : 264330147863
Status : Answered
Chosen Option : 2

Q15 Simplify the given equation.

Cot? A-1
cotA—1

=7

A
ns 1 cosec?A — cotA

2. cosec?A + cotA
3. cot? A + cosecA

4 cot® A — cosecA

Question ID : 264330149783
Status : Answered
Chosen Option : 2




Q.16

Ans
Question ID : 264330147949
Status : Answered
Chosen Option : 3
Q.17
Ans
Question ID : 264330148415
Status : Answered
Chosen Option : 4
Q.18
Ans

Question ID : 264330148026
Status : Answered
Chosen Option : 4




Q.19

Ans 1..7:26

2.16:7
3.26:7
4. 716 Question ID : 264330151140

Status : Answered
Chosen Option : 3

Q.20 The speed of a car is 63 km/h. What is the distance travelled by it in 10 seconds?

Ans 1L 175m

2. 1.75 km
3 185 m
4 17.5m
Question ID : 264330150133
Status : Answered
Chosen Option : 1
Q.21
Ans 1.
2.
3.
4.
Question ID : 264330146519
Status : Answered
Chosen Option : 2
Q.22
Ans N 410
11
13
2. —
11
3 24/42
11
4 24/42
17

Question ID : 264330146842
Status : Answered
Chosen Option : 3




Q.23

Ans 1. 508
2. 608
3. 740 Question ID : 264330150942
4 Status : Answered
- 614 Chosen Option : 2
Q.24
Ans 1. 8.6
2. 7.2
3. 4.6
4.
Question ID : 264330149342
Status : Answered
Chosen Option : 2
Q.25
Ans 1.
2.
3.
4.

Question ID : 264330149278
Status : Answered
Chosen Option : 1

Section : General Awareness

Q1

Ans

=

Dutch
2. French

English

w

4. Portuguese

Question ID : 264330152557
Status : Not Answered
Chosen Option : --




Q.2

Ans
Question ID : 264330150072
Status : Not Answered
Chosen Option : --
Q.3
Ans
Question ID : 264330144698
Status : Not Answered
Chosen Option : --
Q.4
Ans
Question ID : 264330145807
Status : Not Answered
Chosen Option : --
Q.5
Ans

Question ID : 264330145782
Status : Answered
Chosen Option : 3




Q.6

Ans 1.
Country was divided into different states for administrative convenience.

2.

Indian federation was the result of an agreement by sovereign units to join it.
3.

Enumerates the power of centre and states through various lists.

4.
Federation not being the result of agreement, no state has a right to secede from it.

Question ID : 264330150355
Status : Answered
Chosen Option : 4

Q7
Ans 1.
2.
3.
4. Question ID : 264330145578
Status : Not Answered
Chosen Option : --
Q.8
Ans 1.
2.
3.
4.

Question ID : 264330144712
Status : Answered
Chosen Option : 2

Q9 Who among the following founded the Indian Association along with Anand Mohan Bose?

Ans 1

Question ID : 264330148583
Status : Not Answered
Chosen Option : --




Q.10

Ans 1.
2. Only ii is correct

3. Only iii is correct

4,
Question ID : 264330151342
Status : Not Answered
Chosen Option : --
Q.11
Ans 1.
2. Art
3.
4 Question ID : 264330146266
Status : Answered
Chosen Option : 3
Q.12
Ans 1.
2.
3 Question ID : 264330145712

Status : Not Answered
Chosen Option : --




Q.13

Between who among the following did the Battle of Chandawar take place?

ANS 1 Jaychand and Mahmood Gaznavi
2. Jaychand and Muhammad Ghori
3. Prithviraj III and Mahmood Gaznavi

Question ID : 264330150201
Status : Not Answered
Chosen Option : --

4. Prithviraj III and Muhammad Ghori

Q.14
Ans 1.
2.
3.
4,
Question ID : 264330145676
Status : Answered
Chosen Option : 3
Q.15
Ans 1. Koneru Humpy
2.
3. Bhakti Kulkarni
Question ID : 264330154810
4, Status : Answered
Chosen Option : 4
Q.16
Ans 1.
2.
3.
4,

Question ID : 264330146101
Status : Not Answered
Chosen Option : --




Q.17

Ans 1. The Satpura Range is in the South of the Plateau.
2. The Eastern Ghats are in the East of the plateau.

3. The Western Ghats are in the West of the Plateau.
4. The Vindhya Range is in the North of the Plateau.

Question ID : 264330150262
Status : Answered
Chosen Option : 1

Q.18
Ans 1.
2.
3.
4. Question ID : 264330145581
Status : Not Answered
Chosen Option : --
Q.19
Ans 1.
2.
3.
4 Question ID : 264330145760

Status : Not Answered
Chosen Option : --

Ans 1 117 per sq km
2,

3.

Q20 The density of population of India as per the Census of 1951 is

Question ID : 264330150324
Status : Not Answered
Chosen Option : --




Q.21

Ans
Question ID : 264330145922
Status : Answered
Chosen Option : 1
Q.22
Ans
Question ID : 264330144490
Status : Answered
Chosen Option : 4
Q.23
Ans

Question ID : 264330145796
Status : Answered
Chosen Option : 1




Q.24

Ans

=

N

w

i-d, ii-c, iii-b, iv-a
i-a, ii-b, iii-c, iv-d
i-b, ii-c, iii-a, iv-d

i-c, ii-a, iii-b, iv-d

Question ID : 264330149626
Status : Answered
Chosen Option : 4

Q.25 \al Barker Cup in boxing is given to most outstanding boxer in
the Olympics Games but it was NOT awarded in the Olympics
Games

Ans

1.

2.

3.

2016
2008
2012

- 2020

Question ID : 264330150177
Status : Not Answered
Chosen Option : --
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